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Q11.
 
The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
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Question | Working [ Answer | Mark [ Notes
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‘Question “Working Answer | Mark ‘Notes
6x*+6x| 2 | B2 AwardBI forany two terms
differentiated correctly
term)
®) ., 3 5 [ MI Their derivative =-15 oe
6x +6x"=—2 dep on at least Bl in (2)
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2x+1) =0or MI Correct factors or correct use
of quadratic formula or
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2x4
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8 g
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coordinates
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6 —6x-12{ 2 |Al
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Question | Working Answer | Mark Notes
[6) 1202 2 |B2  IfnotB2thenBlfor 12¢ or —2
@ 4 |MIR onlyRac=b=1

Mift  ftx" = constant
05.45a0d B2 Award BI for both x values correct
~05.5.5 or 1 pair of x and y values correct
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(@) 12x—| 2 | B2 | BI for2 correct
15 terms

() |3 -12x-15=0 4 [ Mife

(3x+3)(x—5) (=0) M1 Correct
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x=-lorx=35 Al | correct use of
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Both correct pairs
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Answer
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Notes
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®)
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Al
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@3

AT
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@ (7)176:(7)16(, ML For16x* or -16x7*
x
~ 16
M1 For 163 or+— or2x
e
2y 410 Al Allow 2x+16x72
e M2A0 for an incorrect answer that
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O] M1 ft from (a)
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M1 For a correct equation in x*
NB: No ftallowed
Al For x
Accept as part of an incorrect
coordinate, eg (-2,10)
(-2.12) Al Accept x=
4
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Answer | Mark Notes
@ 9 ,
2 | Ml Foranytwoof 3 ~2xx or -3¢
Al
3 - ox
-54
®) 357 - 9x -54=0 3 |MIf Forletting (1) =0
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Al
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Question ‘Working Answer | Mark Notes
a 2 | ML forany2of 3" or—8x or+5
differentiated correctly
30-8x+5 Al
b 4 [ Ml _fifom@
M1 fi rearmange ready to solve, fras
long as
a@bxte
MIfi correct method to solve
quadsatic — if using formula,
every term to be substituted
correctly as long as ax’ —bx + ¢
2 AT cao dep on M2
32 Tgnore any attempts to find y

values
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Working

Answer

Mark

Notes

a [2x37;-12x2
7

67 —24r+7

M1

Al
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differentiation:
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“
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Al
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differentiation
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zero

ft
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2 M1 For 22+ 4
@
— — M1 Fora comrect expression
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Question Working Answer | Mark. Notes
Number
(a) | Use of areas to obtaina correct 3 | B2 B for expressionfor
expression for A, which must be area of triangle or
correctly punctuated. For example pair of congruent
(A=)80-2x 1 x(10-x)- 2x 1x(8-x) triangles, for
z z example
gt 1 1 1x(10-x) or
10x8-2x(10-X)~1 x(10-x)~ 2 x{8 -] 7
%xmx)
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Working
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dx
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| Question | Working Answer Notes
@@ |3r+2y=120 Bl
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Question Working Answer | Mark Notes
2 |MI for 6xor — 12 (allow
@ 6 12 2x3x for 6x)
Al _fully comect
® G —12 =18 oe 3 |MIR f equation in form ax
+b
(a20.520)
Ml Full method fo solve
their equation
Al (G2
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‘Working Answer | Mark Notes

@ 2 | MI | for 2 correct from 3 x 822 . —3x2x
245 Al |25
fully correct

MI [ fi from (a)

MI | f from (a) for a 3 term quadeatic
with no coefficients of zero

@ = 5)(6x+ 6) (=0) or MI | from (a) for a 3 term quadeatic
(-3 +1)(=0) with no coefficients of zero
(@r-5)(3x+3) (=0 or If using quadraic formula some
@ simplification may be seen.

2x4

1250e-1 | 4 | Al |caodeponMI
[ignore attempts to work out y
values]
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Question | Working Answer | Mark | Notes
@ [T 5 e
® X6 T [ 1 caoBiforesxse
or..-2,1,0,1,2,3,4,5
sCBiforx=6
@ 7T B e
@ =15 T[T forTsseen
3 ST
@ T[T Fay be stated or dicated on diagram. Way be implied
by one correct solution.
7o & AT for solution rounding 6 —0.7 or — 08
EY) A1 for solution rounding to 3.8
38
® T dran atx =35 3| W tan or tan produced passes between points 3, 3y <6)
and (4, 112y < 14)
Verticaldifarence M1 s sy VerOkaiference
Rorizontaldfferenc Rorizontaldifference
for two points on tan
verticaldiference
finds their _verticaldfference
O el porizontaldifference
for two points on curve, where one of the points has an
x-coordinate betvieen 3 and 3.5 inc and the other point
has an x.coordinate between 3.5 and 4 inc
on AT dep on both W marks
inc
Tofal 12 marks
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Question| Working Answer Mark Notes
Number
@) (v=)18t-| 2 |B2 fori8t- 3 oe seenas
3t final answer
Bi for18tor 3 or -3/
®) (@=)"18 - Mift ftif differentiating
6t7(=0)| 2 correctly a quadratic
with 2 or 3 terms
t=)3

Alft
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Question | Working | Answer | Mark Notes
@ 3r—6| 2 |B2 for3r—6
BI for two of three terms
differentiated correctl
® [er 2 | M1 _fi from quadratic (a)
30 Al
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Question ‘Working Answer Mark Notes
Number
@ ) Z-6x22+ 20 2 B1 must see 8 - 24 +
20 0e
() 13, (20), B1 for all correct
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(-12), -5,
(20)
(b) Points plotted 1 B1ft * % square
Curve 1 B1 ftif at least B1
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37 —12x AL
() 3x (32 -12x(-3) M1 ft for a quadratic in
63 2 o))
AL
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